1 & 2 Skyscrapers (30 and 35 points)

Place the digits 1-n (the grid size) in every row and column. Each digit indicates a skyscraper of
that height. Numbers outside the grid indicate how many buildings are visible when looking from
that side. Larger buildings block the view of smaller buildings. Solution code: the content of the

marked rows.
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3 & 4 Ripple Effect (30 and 95 points)

Place digits 1-n in each bold outlined area, where n equals the size of the area in cells. Equal digits
in the same row or column are seperated by at least a number of squares equal to that digit. (e.g.
Two 3’s are seperated by at least 3 squares). Solution code: the content of the marked rows.
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5 & 6 Snake (30 and 60 points)

Find a snake in the grid whose head and tail are indicated by grey cells. The snake wriggles
horizontally and vertically and never touches itself, not even diagonally. The digits outside the grid
indicate the number of cells occupied by the snake in that row or column. Solution code: the
content of the marked rows; 'S’ for occupied cells, -’ for empty cells.
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7 & 8 Mathrax (45 and 70 points)

Place the digits from 1 to 8 in each row and each column. Some intersections of the grid lines are
marked by a number and an operator (+, -, X, /) in a circle. The number is the result of the
operation, applied to both pairs of diagonally opposite cells. An "E" in the circle indicates that all
four adjacent digits are even; an "O" indicates that all four adjacent digits are odd. Solution code:
the content of the marked rows.
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9 & 10 Neighbours (55 and 75 points)

Place digits 1-3 in the grid so that in each row and column, each digit appears two (top puzzle) or
three (bottom puzzle) times. Numbers in grey cells do not share an edge with a cell containing the
same number. Numbers in white cells share an edge with at least one cell containing the same
number. All grey cells are given. Solution code: the content of the marked rows.
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11 & 12 Touching Pentominos (30 and 30 points)

Place all twelve pentominos in the grid. The shapes can be mirrored and rotated, but they can only
touch diagonally. All points where two pentominos touch are indicated by a black dot. Solution
code: the content of the marked rows; for every cell the letter of the pentomino and '-’ for empty
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13 & 14 Mochikoro (20 and 50 points)

Blacken some cells in order to form rectangular areas of white cells. No two areas share an edge,
but all areas are interconnected through their corners. All numbered cells are part of a white area,
but not all white areas have a number. The number indicates the amount of white cells in that area,
including the cell with the number. Blackened 2x2 areas are not allowed. Solution code: the content
of the marked rows; ‘W’ for white cells, 'B’ for black cells.
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15 & 16 Sudoku XV (65 and 70 points)

Place the digits from 1 to 9 in every row, column and 3x3-block. All adjacent cells with two digits
summing to 5 are marked by V, while those summing to 10 are marked by X. Solution code: the

content of the marked rows.
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17 & 18 Star Wars (35 and 45 points)

Place two stars with the size of one cell in each row, column, bold outlined areas and on all straight
grey lines. The stars do not touch each other, not even diagonally. Solution code: for the marked

rows the number of white cells between the two stars.
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19 Japanese Sums Plus (25 points)

Place all digits 1-6 once in every row and column. In every row and column exactly two cells

remain empty. Numbers outside the grid indicate the sums of contiguous blocks of digits in that row
or column. Blocks have to be separated by at least one empty cell. Solution code: the content of the
marked rows, ignore empty cells.
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20 Japanese Sums Plus (105 points)

Place all digits 1-9 once in every row and column. In every row and column exactly three cells
remain empty. Numbers outside the grid indicate the sums of contiguous blocks of digits in that row
or column. Blocks have to be separated by at least one empty cell. Solution code: the content of the
marked rows, ignore empty cells.

10 6 7

13 12 19 26 24 32 4 26 8 12
12 3 5 6 12 5 3 44 16 31 27 9
103021 7 9 8 31 1 3 6 6 36
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8 5 32
6 23 9 7
19 10 16
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